B<a<? —d<b<-194u a-b o WL

O -2<a-b<11 @ 1l<a-b<8
® -3<a-b<l11 @ —T<a-b<8

® -1<a-b<11



21
W xH5XTXa

H A
T

7t Eet, ofuf 71

a ="

ZFO.
g e

@ 5 ® 6 @7 ® 8

® 4



3. xo] T AAAHA x4 19 = 2.39] oS FohEH?

@D 0.3 @ 0.03 ® 0.13 @ 0.23 ® 0.33



218 EH?

x+1.07

I

uze)
o

s

47
45

31
30

@

46
45

©)

91
90

D1



o =

o =
», i

Mo ot

H
=
?

=
o

Al
l

ax+8>0°2 7t x <1 L W], 5 a o] GO 2

@ -5 @ 8 @ -8 ® 10



B (a+b)x+2a-3b <0957t x<-= Ao, 254 (a-

=

2b)x +2a + b < 0 9] sfl=2?

@ x>7 @ x<7 @ x>-T7

@ x<-7 ® x<3



01 -TL}'?_]—]:Q—ZC_]/;! 4x—|—2a:694 :0_H7}'3EE]'_ELZ] O]'E]-

xof & o
HE FotH?

=

i e



H

a#0,b#0)

©a>b @ a>0,b<0

@ ab>0 @_%<0

BN ax<b 9 7t x> -1 0|t &

u, T & e A
@ a+b=0






7b A 100 PR

A FolM a7t 2 4 s 7P 2 4 x, 100 23] A Foll A

a7t 2 5

ol
L

@ 20 ® 24 @ 37 ® 50

@D 4



